
AFM26-K13-20001 

Viewing システム 組立書 

Viewing system assembly example 
 

 

 

I. 概要 

下記の製品を用いた、viewing システムの構築例を示します。なお、

ご利用にあたっては、組み合わせる製品の取扱説明書も合わせてお読

みください。 

・TAR-240155-T-BASE 透過型 XY 軸ステージ取付ベース 

・OUCI-BKT   OUCI 取付ブラケット 

・SP-SZL   ズーム鏡筒取付プレートセット 

 

 

I. Overview 

An example of building a viewing system using the 

following products is shown below. Please also read the 

instruction manuals for each product before using. 

・TAR-240155-T-BASE 

Mounting base for XY axis stage with aperture 

・OUCI-BKT OUCI mounting bracket 

・SP-SZL Zoom lens barrel mounting plate set 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

２

３

４

５

６

７

８

９

１０

１１

１２．１
１２．２

１２．３
１２．４

１２．５

１３

１４

１５

１６

１７

１８

１９

２０

２１

２２

２３

１２

１

１

５０

３５０

５０

２３５



AFM26-K13-20001 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

II. その他 

1). 本書の内容はシグマ光機株式会社が所有する知的財産権等の権利

の実施や使用を許諾するものではありません。一部、または全部の

転載、複製については文書によるシグマ光機株式会社の事前の承

諾が必要になります。 

2). 本書の内容は発行時点のものであり、予告なしに変更することがあ

ります。 

3). 本書の内容は慎重に作成したものですが、万一資料の記述に誤り、

お気づきの点がございましたらご購入先もしくは弊社営業部にご

連絡ください。 

4). 本書に掲載されている以外の組み合わせとなった場合、ご要望に

より特注仕様となった場合は本書の内容と異なる場合がございま

す。また、組み合わせてお使いになる製品がある場合は、それらの

取扱説明書も合わせてお読みください。 

 

 

 

 

 

II. Others 

1). The contents of this manual do not permit the 

implementation or use of rights such as intellectual 

property rights owned by SIGMA KOKI Co., Ltd. 

Reprinting or copying of part or all of this document 

requires the prior written consent of SIGMA KOKI 

Co., Ltd. 

2). The contents of this manual are as of the time of 

publication and are subject to change without notice. 

3). The contents of this manual have been carefully 

prepared, but if you find any mistakes in the 

description of the materials, please contact the 

place of purchase or our sales department. 

4). Combinations other than those described in this 

manual, or custom specifications may differ from the 

contents of this manual. If there are products that 

can be used in combination, also read the instruction 

manuals for those products. 

■東京本社 

〒130-0021 東京都墨田区緑 1-19-9 

TEL:03-5638-6551(代), FAX:03-5638-6550 

E-mail: sales@sigma-koki.com 

■大阪支店 

〒532-0011 大阪府大阪市淀川区西中島 4-9-28  

TEL:06-6307-4835(代), FAX.06-6307-4834 

E-mail: sales.osaka@sigma-koki.com 

■九州営業所 

〒812-0014 福岡県福岡市博多区比恵町 3-17 

TEL:092-481-4300(代), FAX.092-481-4310 

E-mail: sales.kyushu@sigma-koki.com 

 

https://jp.optosigma.com/ja_jp/ 

■Tokyo Head Office 

1-19-9, Midori, Sumida-ku, Tokyo, 130-0021, JAPAN 

TEL.+81-3-5638-8228, FAX.+81-3-5638-6550 

E-mail: international@sigma-koki.com 

■Osaka Branch 

4-9-28 Nishi-Nakajima, Yodogawa-ku, Osaka, 532-0011 

TEL.+81-6-6307-4835, FAX.+81-6-6307-4834 

E-mail: sales.osaka@sigma-koki.com 

■Kyushu Sales Office 

3-17 Hie-machi,Hakata-ku, Fukuoka. 812-0014 

TEL.+81-92-481-4300, FAX.+81-92-481-4310 

E-mail: sales.kyushu@sigma-koki.com 

 

https://jp.optosigma.com/en_jp/ 

番号 / No. 品番 / Product number 品名 / Product name 備考 / Remarks

1 ZAS-FAC-PST フォーカスユニット / Focus unit

2 MSP-6015B 高さ調整スペーサー / Aluminum spacer

3 M4 x 10L 六角穴付きボルト / Hexagon socket head cap screw MSP-6015Bの付属品 / MSP-6015B accessories

4 MSP-6015A 高さ調整スペーサー / Aluminum spacer

5 M4 x 10L 六角穴付きボルト / Hexagon socket head cap screw MSP-6015Ａの付属品 / MSP-6015A accessories

6 HPS60-20X-M5 ハイパフォーマンスステージ / High performance motorized stage

7 M4 x 12L 六角穴付きボルト / Hexagon socket head cap screw HPS60-20X-M5の付属品 / HPS60-20X-M5 accessories

8 OUCI-BKT OUCI取付ブラケット / OUCI mounting bracket

9 M4 x 45L 六角穴付きボルト / Hexagon socket head cap screw OUCI-BKTの付属品 / OUCI-BKT accessories

10 OUCI-3 同軸照明付観察ユニット / Observation unit with coaxial illumination

11 M4 x 8L 六角穴付きボルト / Hexagon socket head cap screw OUCI-BKTの付属品 / OUCI-BKT accessories

12 SP-SZL ズーム鏡筒取付プレートセット / Zoom lens barrel mounting plate set

12.1 - 下板 / Lower plate SP-SZL構成品 / SP-SZL components

12.2 M4 x 10L 六角穴付きボルト / Hexagon socket head cap screw SP-SZL構成品 / SP-SZL components

12.3 M4 x 10L 六角穴付きボルト / Hexagon socket head cap screw SP-SZL構成品 / SP-SZL components

12.4 - 上板 / Top plate SP-SZL構成品 / SP-SZL components

12.5 M4 x 18L 六角穴付きボルト / Hexagon socket head cap screw SP-SZL構成品 / SP-SZL components

13 SZL ズーム鏡筒 / Zoom lens barrel

14 PS-L ポールスタンド / Pole stand

15 MSP-6020B 高さ調整スペーサー / Aluminum spacer

16 M4 x 10L 六角穴付きボルト / Hexagon socket head cap screw MSP-6020Bの付属品 / MSP-6020B accessories

17 KSPA-806M θ軸透過用粗微動ステージ / Rotation Stages to with Aperture

18 M4 x 20L 六角穴付きボルト / Hexagon socket head cap screw KSPA-806Mの付属品 / KSPA-806M accessories

19 TAR-240155-T-BASE 透過型XY軸ステージ取付ベース / Mounting base for XY axis stage with aperture

20 M4 x 6L 六角穴付きボルト / Hexagon socket head cap screw TAR-240155-T-BASEの付属品 / TAR-240155-T-BASE accessories

21 TAR-240155-T 透過型XY軸ステージ / XY axis stage with apperture

22 M6 x 10L 六角穴付きボルト / Hexagon socket head cap screw TAR-240155-T-BASEの付属品 / TAR-240155-T-BASE accessories

23 - ガラスプレート / Glass plate TAR-240155-Tの付属品 / TAR-240155-T accessories


